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 INSTRUCTIONS TO CX”%DIDATES

a) Write your name school, index number and sxgnature in the spaces prov1ded above

~b) This paper cons1sts of three sectxons 'A,Band C.

] Answer all the questions in Sectlon A and B and any two questlons from Section C.

. €) Ansvmr qu%tlons in Enghsh

d)  Answer all questions must be wntten in spaces provrded in this question paper

FOR EXAM]NER'S USE ONLY

Section | Questlon Manmum Score Candldates Score
A | 1-19 | 30 |
B 2022 | 200
c_ 20
TOTAL SCORE 90
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' SECTION A (30 MARKS)
Answer all questions in this section in the spaces provided. -

ot

1. Give four examples of land reforms that have taken place in Kenya. (2 marks) -

a

2.
3.
4.
g e \‘ :.“ pd o .‘\l D A : . ; ‘ . » Y .
5. Give four advantages of minimum tillage. : . S IR - (2 marks)
6.
7.
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8. List six factors considered when classifying crop pests. 7 (3 marks)

~

11 A faﬁner was asked to aj ply fertlllzer as follows after sml testmg
- 50kg/ha Nitrogen as top dressmg :
60kg/ha P,0; at plantmg
60kg/ha K50 for top dressmg

L a) Calculate how much calclum ammomum mtrate 20%N would be reqmred per heetare" (2 marks):

e b)Calculate how much double super sulphate 40% PzOS would berequlred per hectare(2marks) :

IO OENTRAY 2 TERM O 2014 e T

g

(MM) FORM 4- AGRICULTURE | .




MAe . LPVUALY RUNKE BLAWLALLNAL WL dAued YAAILLLLE, LWMD LI G ANILWIVR T

ORI

15. The dlagrams labelled X, Y, Z and B below 1llustrate matenals and methods of vegetatwe
' propagatlon Study them and answer the questlons which follow '
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| Fertilizer inputs (units) | Maize yield (bags) [Marginal pil,-oilfﬁc‘t (bags) |Average Lpr‘bducts"
0 50 -

1 162
2 66
13 68
|4 oo
5 69

a) Fill in the marginal product and average product column,‘ ' : (5 inarlgs)

17. The diagram below illustrates a tomato fruit infested by a certain pest.

: 1) Identify the pest. ..... iedeensasisdeiseigrsiens : T s (1 mark)
.11) State the damage causedbythe pestonthe fruit. | o | ) B TR Q mark)

Pma, vvvvvvvvvvvvvv VVVVVV
v vvvvvvvvvvvvvvvvv vV

..... e (1mak)

Cayi) Identlfy the farm structure ..........
i) What is the dimension of the part labelled X. oo (1 mark)
iii) Give a reason for your answer in (ii) above (1 mark)
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b) A plot of land measures 6.6m long by 3.6m wide. The plot is pregared for plantmg cabbages at a
Cpacmg of 60cm by 60cm. The outer most row start 30cm from the edges all around the [ﬁot

alculate:
i) The number of rows falling on the width: 31de of the plot

ii) The number of cabbages seedlings that should be planted in the plot. (Show your workmg)

SECTION C: (40 MARKS)

Answer any TWO questions in thls sectlon in thc spaces provided.

19. a) State the law of Diminishing Retums

production.
¢) Explain eight ways how a farmer can ad_]ust to rlsks and uncertamtles
d) Give four advantages of budgeting in farm business.
e) Outline three uses of a balance sheet in farm accounts. L
f) State six factors that 1nﬂuence the de d of a commodlty ina market.

w200 a) Outline four improper farmmg methods whlch accelerate 5011 erosion.
b) State four problems. caused by soil erosion.

c) Explain how trees help in soil conservation.-

d) Outline six beneﬁts of agro—forestry '

21. a) Explam how the followmg chmatlc factors affect crop productlon in Kenya: s

i) Light
ii) Rainfall
i) Hum1dlty e
- b) Explain the process involved in water treatment usmg chemlcal
c) State four advantages of overhead irrigation over surface 1rr1gat10n

(1 mark)

2 marks)

T @ marks)
b) Illustrate the above stated law by use of a graph and indicate the three lmportant zones of

(3 marks)

(2 marks)
(4 marks)
(3 marks)

(6 marks)
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